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Instructions for Can9idates

Write your Roll No. on the top immediately on receipt

of this question PaPer.

Attempt all questions.

Answers may be written either in English or Hindi;

but the same medium should be used throughout the

paper.
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{rft nri 6T vrr AfrO I

{{ nt=r- rEI t6I GiR er}S qr Efr fr.& V{ qtql i afrq, eB-{
trt g-at or qrrrc yfi A +rr qrBq I

(a) Determine the Validity/Inval idity of rny one of

the following argument form by Truth Table

Method: i/{ l

frqRfiqa Shild i t ErQ f'o.* imrzwitrn rsar

we ED ERr ff:fRir qt:

pf,(q.r)

-(pvq)

/.'. -qvr
OR

(pvq)=r

r:)(p. q)

..._(p.q)r(pvq)

40 r3 ll
{lt r++, suFelT *+ il mft r*er.{rq c-uislT Te

ii *r rsfrs ett rilsr.qrm r€q. q& di ir

(ii) No craft persons are shop owners. All weavers

are craft persons. Therefore, no weavers are

shop owners. (Cx, Sx, Wx)

dt ffftq-oR g+,r{dr{ T& *r mft gaq.1 frn*ron ir
3lil: qt€ gr*-< gmr:ren +& fi

(iii) (.r) (Ax 
= - Bx/

(3x) (Cx . Ax) i.'. (3x) (Cx . -Bx)

10. Prove the invalidity of any two of the following by
constructing model containing of two individuals:

(5,s)

d q64- qri drd q-{rfi.{ ffiR{d + + ffi A *
sritIar rsrRfr 6t:

(3x)(Bx.-Cx)
(x)(Dx=-Cx) /.'. (x) (Dx : Bx)

3.

(i)
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(v) None but the brave deserve the fair. (Bx, Dx)

fft * irRk ifu +{ yilRn * *q <ff ir

(ax, ox)

(vi) Snake bites are sometimes fatal. (Sx, Fx)

qq-En E.qI qrn <-a-c<ra 6Rt 6t (Sx, Fx)

(vii) Indians are rarely punctual. (Ix, Px)

q€c ffi fi rrrq-s-c itt *r (u, nx)

Construct Formal Proof of validity of any two of the

following using suggested notation: (5,5)

ffifr+d n- + ffi * d ?trm mr snorfto ycm +qR

qt:

(i) All dancers are exuberant. All fencers are not

exuberant. Therefore, all fencers are not

dancers. (Dx, Ex, Fx)

4013 3

(b) Determine the logical status of any one of the

following: (5)

ffifur++ffiVq,yffiqr6nfrf,rtrq
Rft FtfRr d,

[(p.q)rr]=[pr(qf,r)J
OR

[(p=q). 1-q v- r)] = 
(p= r)

2. (a) Symbolize any four of the following: (4)

ffiftd{ i t ffi zn qt rfi-q+'i FrA

(i) Violence on women will reduce if and only

if strict Iaws are implemented. (V. L)

qBtn$ qt Esr d* sltr *a6 6{t qq *ff wq

63 ft+r ilr{ H qr}tr (V, L)
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Not both Rubai and Sana will win tho

match. (R, S)

rw *( <-+ ffi ff +q r&- Stir (n, s)

A person is successful in life if she is not

afraid of failure. (S, F)

s6'qk fi-+< 1- .*- +dI i qE qE 3nF6!rdl

t rff vc<rr (s, E)

Shelly is neither a doctor nor a teacher.

(D, T)

rtfr q * dTer A ft r ff ffrffir (D,r)

Translate any five of the following into the logical

notation of propositional functions and quantifiers :

(5)

lars rrs e-ffd qr eA?T 6-,{e Eq ffift{dt t foeA qtq

;5r (dqriFr-siFr uL q6qrsr+1 + ilffi*. ffi } qffi(

qi,

(i) Nurses are always considerate. (Nx, Cx)

rr{ seq E(t or rqra; Trq+ sr& Etfr Tr (Nx, cx)

M +tn t sqRrd ir (sx, fx)

(iii) No boy scout ever cheats. (Bx, Cx)

et{ qra -qr rRdro <& tr (sx, cx)

(iv) Not every applicant was hired. (Ax, Hx)

40r3 9

(it)

(iiD

(iv)

E

(v) It is not the case that if any metal is heated,

then it will not expand. (M, E)

tn 16l * fr qe +i trrg .rtq + ilq dt 3116I

fr<n < ir (u, r)
E{ +{ BIr+{+, BCfi Tff genr (ax, Hx)

P.T.O.

(ii) Students are present in the class. (Sx, Px)
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A r(B.C)
(B vD)=E

D v ,4. /.'. E

Using Truth Tree Method test the validity/invalidity

of any one the following: (6)

Err i fttu sT sc*q oi* ffiR+o t t ffi Vo fr
Aa-dnr+q-dr qr qfrerot 6i :

(A.B) )C
(-A rD) / .'. B= (CvD)

OR

(A v B)= (C. D)

@vE)=F/.'. A=F

(b) erove d1e valjdity/jnvalidity of any one Of the

following by Reductio-ad-absurdum method :

(5)

ftffi-is-qqeq Bft ar ffiR+a fr *nrzerluar

ft-a of r

prq
(r.q)vs
q>s/.'. s

OR
pv-q
(p'q)/.'.-(p=q)

3 (a) Rewrite the following into stroke function:

(3)

ffiF+o d **, q'-qqlrt fr( t friE,

-1p.q)=(rvs)

P. T. O.
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(b) Define p = q in lerms of negation and dot'

(3)

p = q d frQu (*) d( *d-{ (') t fttR-t affB}t

Construct a formal proof of validity of any one of the

following ' Q)

ffiftae { t ffi r'4. fr trar ql gr6rR6 eqror fuR

11; A:@=c)
(C. D)-:E

-F:@.-E)/.'. Ar(BrF)

(ii) 1-RvR):-(-P.-Q)

(PvQ)r -S /." -S

Using the strengthened rule of Conditional proof,

construct a proof of validity for any one of the

following' (6)

frqrfuo r.tror * qsra.d frqq 61 tqfrr m'G gv, fuqRR"fi

t t ffi 1'6 + frs atrdl fi cqlur fr t-rqat qt:

A=(BvC)
E=(CvP)
-Cl.'. - (BvP)=-(AvE)

OR

P)(C>N)
(N.R)=E
(T: R). - E / .'. P: (C = -T)

Construct an Indirect Proof of any one of the

following ' (6)

ffifur t t €tS g6'fr olc-ser qqm fr rs.fiI st:

(D vE)= (F =G)
(-GvH) >(D'F)/." G
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